

## P.P. PROPERTIES OF GROUP RINGS

Libo Zan and Jianlong Chen

Received: 11 May 2007; Revised: 24 October 2007

Communicated by John Clark

**ABSTRACT.** A ring is called left p.p. if the left annihilator of each element of  $R$  is generated by an idempotent. We prove that for a ring  $R$  and a group  $G$ , if the group ring  $RG$  is left p.p. then so is  $RH$  for every subgroup  $H$  of  $G$ ; if in addition  $G$  is finite then  $|G|^{-1} \in R$ . Counterexamples are given to answer the question whether the group ring  $RG$  is left p.p. if  $R$  is left p.p. and  $G$  is a finite group with  $|G|^{-1} \in R$ . Let  $G$  be a group acting on  $R$  as automorphisms. Some sufficient conditions are given for the fixed ring  $R^G$  to be left p.p.

**Mathematics Subject Classification (2000):** 16D50, 16P70

**Keywords:** p.p. ring, Baer ring, group ring.

### Introduction

Throughout this paper all rings are associative with identity. A ring  $R$  is called Baer if the left annihilator of every nonempty subset of  $R$  is generated by an idempotent. The concept of a Baer ring was introduced by Kaplansky to abstract properties of rings of operators on a Hilbert space in his 1965 book [9]. The definition of Baer is indeed left-right symmetric by [9].

Closely related to Baer rings are p.p. rings. A ring  $R$  is called a left p.p. ring if each principal left ideal of  $R$  is projective, or equivalently, if the left annihilator of each element of  $R$  is generated by an idempotent. Similarly, right p.p. rings can be defined. A ring is called a p.p. ring if it is both a left and a right p.p. ring. The concept of a p.p. ring is not left-right symmetric by Chase [2]. A left p.p. ring  $R$  is Baer (so p.p.) when  $R$  is orthogonally finite by Small [11] and a left p.p. ring is p.p. when  $R$  is Abelian by Endo [5]. For more details on left p.p. rings, see [3,7,8]. Baer rings are clearly p.p. rings, and von Neumann regular rings are p.p. rings by Goodearl [6].

---

The second author was supported by the National Natural Science Foundation of China (No.10571026), the Natural Science Foundation of Jiangsu Province (No.BK2005207), and the Specialized Research Fund for the Doctoral Program of Higher Education (20060286006).

Given a ring  $R$  and a group  $G$ , we will denote the group ring of  $G$  over  $R$  by  $RG$ . Write  $\Delta_R(G)$  for the augmentation ideal of  $RG$  generated by  $\{1 - g : g \in G\}$ . If  $H$  is a finite subgroup of  $G$ , we let  $\hat{H} = \sum_{h \in H} h$ . If  $g \in G$  has finite order, we define  $\hat{g} = \hat{H}$  where  $H = \langle g \rangle$ . We write  $C_n$  for the cyclic group of order  $n$ ,  $\mathbb{Z}$  for the ring of integers and  $\mathbb{Z}_n$  for the ring of integers modulo  $n$ . As usual,  $\mathbb{Q}$  is the field of rationals and  $\mathbb{C}$  is the field of complex numbers. The imaginary unit is denoted by  $\mathbf{i}$ . For a subset  $X$  of  $R$ ,  $\mathbf{l}_R(X)$  denotes the left annihilator of  $X$  in  $R$ .

In [13], Z. Yi and Q. Y. Zhou studied Baer properties of group rings. Motivated by them, we discuss the p.p. properties of group rings. Some methods and proofs are similar to those in [13].

## 1. Necessary Conditions

**Theorem 1.1.** *Let  $R$  be a subring of a ring  $S$  both with the same identity. Suppose that  $S$  is a free left  $R$ -module with a basis  $G$  such that  $1 \in G$  and  $ag = ga$  for all  $a \in R$  and all  $g \in G$ . If  $S$  is left p.p., then so is  $R$ .*

**Proof.** For  $a \in R$ , since  $S$  is left p.p.,  $\mathbf{l}_S(a) = Se$  where  $e^2 = e \in S$ . Write  $e = e_0g_0 + \cdots + e_n g_n$  where  $g_0 = 1, g_i \in G$  are distinct and  $e_i \in R$ . Then  $0 = ea = (e_0g_0 + \cdots + e_n g_n)a = e_0ag_0 + \cdots + e_n ag_n$ , and so  $e_i a = 0$  for  $i = 0, \dots, n$ . Thus  $e_i \in \mathbf{l}_S(a) = Se$ , implying that  $e_i = e_i e$ . Then  $e_0g_0 = e_0 = e_0e = e_0(e_0g_0 + \cdots + e_n g_n) = e_0^2g_0 + e_0e_1g_1 + \cdots + e_0e_n g_n$ , whence  $e_0 = e_0^2 \in R$ . Because  $e_0a = 0$ , we have  $Re_0 \subseteq \mathbf{l}_R(a)$ . For  $r \in \mathbf{l}_R(a) \subseteq \mathbf{l}_S(a) = Se$ , we have  $r = re = r(e_0g_0 + \cdots + e_n g_n) = re_0g_0 + \cdots + re_n g_n$ . So  $r = re_0 \in Re_0$ . Hence  $\mathbf{l}_R(a) = Re_0$  and  $R$  is left p.p.  $\square$

**Corollary 1.2.** *Let  $R$  be a ring and  $G$  be a group. If  $RG$  is left p.p., then so is  $R$ .*

**Proof.** Note that  $S = RG = \bigoplus_{g \in G} Rg$  is a free left  $R$ -module with a basis  $G$  satisfying the assumptions of Theorem 1.1.  $\square$

**Corollary 1.3.** *If  $R[x]$  or  $R[x, x^{-1}]$  is left p.p., then so is  $R$ .*

**Proof.** Note that  $R[x]$  and  $R[x, x^{-1}]$  are free  $R$ -modules with bases  $\{x^i : i = 0, 1, \dots\}$  and  $\{x^i : i = 0, \pm 1, \dots\}$  satisfying the assumptions of Theorem 1.1.  $\square$

**Corollary 1.4.** *If  $R[x]/(x^n + a_1x^{n-1} + \cdots + a_n)$  is left p.p., where  $a_1, \dots, a_n \in R$  and  $n$  is a positive integer, then  $R$  is left p.p.*

**Proof.** Note that  $S = R[x]/(x^n + a_1x^{n-1} + \cdots + a_n) = \bigoplus_{i=0}^{n-1} Rx^i$  is a free left  $R$ -module with a basis  $\{1, x, \dots, x^{n-1}\}$  satisfying the assumptions of Theorem 1.1.  $\square$

**Theorem 1.5.** *If  $RG$  is left p.p., then so is  $RH$  for every subgroup  $H$  of  $G$ .*

**Proof.** For  $x \in RH$ , because  $RG$  is left p.p. and  $RH \subseteq RG$ , we have  $\mathbf{1}_{RG}(x) = RGe$ , where  $e^2 = e \in RG$ . Write  $e = \sum_{h \in H} a_h h + \sum_{g \notin H} b_g g$ . Then

$$0 = ex = (\sum_{h \in H} a_h h)x + (\sum_{g \notin H} b_g g)x.$$

Note that if  $h \in H$  and  $g \notin H$  then  $hg \notin H$ . This shows that the support of  $(\sum_{g \notin H} b_g g)x$  is contained in  $G \setminus H$ . So by the above equality that  $\alpha := \sum_{h \in H} a_h h \in \mathbf{1}_{RH}(x) \subseteq \mathbf{1}_{RG}(x) = RGe$ , and hence

$$\sum_{h \in H} a_h h = (\sum_{h \in H} a_h h)e = (\sum_{h \in H} a_h h)^2 + (\sum_{h \in H} a_h h)(\sum_{g \notin H} b_g g).$$

Therefore,  $\alpha^2 = \alpha$  and  $RH\alpha \subseteq \mathbf{1}_{RH}(x)$ . If  $y \in \mathbf{1}_{RH}(x)$ , then  $yx = 0$ . So  $y = ye = y(\sum_{h \in H} a_h h) + y(\sum_{g \notin H} b_g g)$ , showing that  $y = y(\sum_{h \in H} a_h h) = y\alpha$ . Hence  $RH\alpha = \mathbf{1}_{RH}(x)$  and  $RH$  is left p.p.  $\square$

**Theorem 1.6.** *If  $G$  is a finite group and  $RG$  is left p.p., then  $|G|^{-1} \in R$ .*

**Proof.** It is well-known that  $\mathbf{1}_{RG}(\hat{G}) = \Delta_R(G)$ . Since  $RG$  is left p.p., we have  $\Delta_R(G) = \mathbf{1}_{RG}(\hat{G}) = RGe$  where  $e^2 = e \in RG$ . Then  $\Delta_R(G)$  is a direct summand of  $RG$ . By [10, Lemma 3.4.6],  $|G|$  is invertible in  $R$ .  $\square$

**Example 1.7.**  $\mathbb{Z}G$  is not left p.p. for any nontrivial finite group  $G$ .

**Example 1.8.** *Let  $G$  be a finite group and  $n$  be an integer with  $n > 1$ . Then the following are equivalent:*

- (i)  $\mathbb{Z}_n G$  is Baer;
- (ii)  $\mathbb{Z}_n G$  is (left) p.p.;
- (iii)  $\gcd(n, |G|) = 1$  and  $n$  is square-free.

**Proof.** (i) clearly implies (ii).

Suppose that (ii) holds. Write  $n = p_1^{s_1} \cdots p_k^{s_k}$  where all  $p_i$  are prime numbers and  $s_i > 0$ . Then  $\mathbb{Z}_n \cong \mathbb{Z}_{p_1^{s_1}} \times \cdots \times \mathbb{Z}_{p_k^{s_k}}$ , and  $\mathbb{Z}_n G \cong \mathbb{Z}_{p_1^{s_1}} G \times \cdots \times \mathbb{Z}_{p_k^{s_k}} G$ . It follows from (ii) that each  $\mathbb{Z}_{p_i^{s_i}} G$  is p.p. So  $\mathbb{Z}_{p_i^{s_i}}$  is (left) p.p. and  $p_i^{s_i} \nmid |G|$  by Theorem 1.6.

Claim. If  $\mathbb{Z}_{p_i^{s_i}}$  is left p.p. then  $s_i = 1$ .

Proof. Assume that  $s_i > 1$ . Since  $\mathbb{Z}_{p_i^{s_i}}$  is left p.p.,  $\mathbf{1}_{\mathbb{Z}_{p_i^{s_i}}}(p_i) = \mathbb{Z}_{p_i^{s_i}} e$ , where  $e^2 = e \in \mathbb{Z}_{p_i^{s_i}}$ . Because  $\mathbb{Z}_{p_i^{s_i}}$  is local, either  $e = 0$  or  $e = 1$ . Then  $\mathbf{1}_{\mathbb{Z}_{p_i^{s_i}}}(p_i) = 0$  or  $\mathbf{1}_{\mathbb{Z}_{p_i^{s_i}}}(p_i) = \mathbb{Z}_{p_i^{s_i}}$ , a contradiction. Thus  $s_i = 1$  and  $p_i \nmid |G|$ . Hence (iii) holds.

If (iii) holds, then  $\mathbb{Z}_n G$  is a semisimple ring by Maschke's Theorem, hence (i) holds.  $\square$

**Proposition 1.9.** *Let  $R$  be a von Neumann regular ring and  $G$  be a locally finite group. Then the following are equivalent:*

- (i)  $RG$  is (left) p.p.;
- (ii) the order of every finite subgroup of  $G$  is a unit in  $R$ .

**Proof.** Suppose that (i) holds. Since  $RG$  is left p.p., by Theorem 1.5 we have  $RH$  is left p.p. for every finite subgroup  $H$  of  $G$ . So we have  $|H|^{-1} \in R$  by Theorem 1.6. Hence (ii) holds.

Suppose (ii) holds. By [1],  $RG$  is von Neumann regular, so  $RG$  is left p.p.  $\square$

In the following,  $S_3$  denotes the symmetric group of order 6.

**Lemma 1.10.** [4, Lemma 4.7 ] *If  $6^{-1} \in R$ , then  $RS_3 \cong R \times R \times \mathbb{M}_2(R)$ .*

By [8, Proposition 9(i)], if  $R$  is a left p.p. ring then so is  $eRe$  for  $e^2 = e \in R$ . Thus if  $\mathbb{M}_2(R)$  is left p.p. then  $R$  is left p.p. So we have

**Corollary 1.11.** *If  $6^{-1} \in R$ , then  $RS_3$  is left p.p. if and only if  $\mathbb{M}_2(R)$  is left p.p.*

## 2. Group Rings of Finite Cyclic Groups

Let  $R$  be a ring and  $G$  be a finite group. If the group ring  $RG$  is left p.p. then  $R$  is left p.p. and  $|G|^{-1} \in R$  by Corollary 1.2 and Theorem 1.6. Thus it is natural to ask whether the converse holds. In this section, counterexamples to this question are given.

**Proposition 2.1.**  *$RC_2$  is left p.p. if and only if  $R$  is left p.p. and  $2^{-1} \in R$ .*

**Proof.** By [13, Lemma 2.1], if  $2^{-1} \in R$  then  $RC_2 \cong R \times R$ . Thus the result follows from Corollary 1.2 and Theorem 1.6.  $\square$

**Proposition 2.2.**  *$RC_4$  is left p.p. if and only if  $R[x]/(x^2 + 1)$  is left p.p. and  $2^{-1} \in R$ .*

**Proof.** By [13, Lemma 2.3], if  $2^{-1} \in R$  then  $RC_4 \cong R \times R \times R[x]/(x^2 + 1)$ . Thus the result follows from Corollary 1.4 and Theorem 1.6.  $\square$

**Proposition 2.3.** *If  $R \subseteq \mathbb{C}$ , then  $RC_3$  is left p.p. if and only if  $R[x]/(x^2 + x + 1)$  is left p.p. and  $3^{-1} \in R$ .*

**Proof.** By [13, Lemma 2.5], if  $R \subseteq \mathbb{C}$  and  $3^{-1} \in R$  then

$$RC_3 \cong R \times R[x]/(x^2 + x + 1).$$

Thus the result follows from Corollary 1.4 and Theorem 1.6.  $\square$

The proof of the next theorem is similar to that of [13, Theorem 2.6].

**Theorem 2.4.** *Let  $R$  be a subring of  $\mathbb{C}$  and let  $Q(R)$  denote the quotient field of  $R$ . Consider the polynomial  $x^2 + a_1x + a_2 \in R[x]$  with  $a_1^2 - 4a_2 \neq 0$ . Let  $\alpha$  be a solution of  $x^2 + a_1x + a_2 = 0$  in  $\mathbb{C}$ . Then  $R[x]/(x^2 + a_1x + a_2)$  is left p.p. if and only if either  $\alpha \in R$  or  $R\alpha \cap R = 0$  (i.e.,  $\alpha \notin Q(R)$ ).*

**Proof.** Let  $T$  denote the ring  $R[x]/(x^2 + a_1x + a_2)$  and  $x^2 + a_1x + a_2 = (x - \alpha)(x - \beta)$  where  $\alpha, \beta \in \mathbb{C}$ . By hypothesis,  $\alpha \neq \beta$ . First suppose  $\alpha \notin Q(R)$ . Then  $T$  is a domain. In particular  $T$  is p.p.

Next suppose  $\alpha \in Q(R)$ . Then  $\beta \in Q(R)$ . Define the map  $\varphi : R[x] \rightarrow Q(R) \times Q(R)$  by  $\varphi(f(x)) = (f(\alpha), f(\beta))$ . Then the kernel of  $\varphi$  is  $(x^2 + a_1x + a_2)$ . Hence  $T$  can be regarded as a subring of  $Q(R) \times Q(R)$ . It is clear that  $T$  is not a domain.

Claim.  $T$  is (left) p.p. if and only if  $T$  contains the idempotent  $(0, 1) \in Q(R) \times Q(R)$ .

Proof. “ $\Rightarrow$ ” Since  $T$  is not a domain, if  $T$  is (left) p.p. then  $T$  contains the nontrivial idempotents of  $Q(R) \times Q(R)$ . The nontrivial idempotents of  $Q(R) \times Q(R)$  are exactly  $(1, 0)$  and  $(0, 1)$ . So  $(0, 1) \in T$ .

“ $\Leftarrow$ ” Assume  $(0, 1) \in T$ . Then  $(1, 0) \in T$ . Consider any  $(0, 0) \neq (a, b) \in T$ , where  $a, b \in Q(R)$ . If  $a \neq 0, b \neq 0$ ,  $\mathbf{l}_T((a, b)) = 0$ ; if  $a = 0, b \neq 0$ ,  $\mathbf{l}_T((a, b)) = T(1, 0)$ ; if  $a \neq 0, b = 0$ ,  $\mathbf{l}_T((a, b)) = T(0, 1)$ . So  $T$  is (left) p.p.

Moreover,  $(0, 1) \in T$  if and only if there exists  $ax + b \in R[x]$  such that  $a\alpha + b = 0$  and  $a\beta + b = 1$ . Since  $x^2 + a_1x + a_2 = (x - \alpha)(x - \beta)$ , we have that  $(a_1\alpha - 1)b = [-(\alpha + \beta)a - 1]b = [-(1 - 2b) - 1]b = 2b(b - 1) = 2(-a\alpha)(-a\beta) = 2a^2a_2$ . Hence  $b = a(a_1\alpha - 2aa_2)$ . So  $\alpha = -\frac{b}{a} \in R$ .  $\square$

**Example 2.5.** Let  $R_0 = \{n/2^k : n, k \in \mathbb{Z}, k \geq 0\}$ . Then  $R_0$  is a subring of  $\mathbb{Q}$ . Set

$$R = \{a + pbi : a, b \in R_0\}$$

where  $p > 2$ ,  $p$  is a prime. Then  $R$  is a subring of  $\mathbb{C}$  with  $\frac{1}{2} \in R$ . Because  $R$  is a domain, it is certainly p.p. Clearly  $\mathbf{i} \notin R$ . Moreover, for  $r = p$  and  $s = p\mathbf{i}$ , we have  $s = p\mathbf{i} \in R \cap R\mathbf{i}$ . So, by Theorem 2.4,  $R[x]/(x^2 + 1)$  is not (left) p.p. Hence  $RC_4$  is not (left) p.p. by Proposition 2.2.

**Example 2.6.** [13, Example 2.8] Let  $R_0 = \{n/3^k : n, k \in \mathbb{Z}, k \geq 0\}$ . Then  $R_0$  is a subring of  $\mathbb{Q}$ . Set

$$R = \{a + \sqrt{3}bi : a, b \in R_0\}.$$

Then  $R$  is a subring of  $\mathbb{C}$  with  $\frac{1}{3} \in R$ . Because  $R$  is a domain, it is certainly p.p. Clearly  $\alpha = \frac{-1+\sqrt{3}\mathbf{i}}{2} \notin R$ . Let  $r = 2\sqrt{3}\mathbf{i}$ ,  $s = -(3 + \sqrt{3})\mathbf{i}$ . Then  $s = r\alpha \in R\alpha \cap R$ . Hence  $RC_3$  is not (left) p.p. by Proposition 2.3 and Theorem 2.4.

### 3. Fixed Rings

Let  $G$  be a group acting on  $R$  as automorphisms and let  $R^G$  be the fixed ring of  $G$  acting on  $R$ . Here we study the conditions under which  $R^G$  becomes left p.p.

**Theorem 3.1.** *Let  $R$  be a ring and  $G$  be a group acting on  $R$  as automorphisms such that either (i)  $ee^g = e^ge$  for all  $e^2 = e \in R$  and all  $g \in G$  or (ii)  $G$  is finite with  $|G|^{-1} \in R$ . If  $R$  is left p.p., so is  $R^G$ .*

**Proof.** For any  $a \in R^G$ , since  $R$  is left p.p., we have  $\mathbf{1}_R(a) = Re$  where  $e^2 = e \in R$ . For  $g \in G$ ,

$$Re^g = R^ge^g = (Re)^g = (\mathbf{1}_R(a))^g = \mathbf{1}_{R^g}(a^g) = \mathbf{1}_R(a) = Re.$$

It follows that

$$e^g = e^ge \text{ and } e = ee^g \text{ for all } g \in G. \quad (3.1)$$

Suppose that (i) holds. It follows that  $e = e^g$  for all  $g \in G$ , so  $e \in R^G$ . Since  $ea = 0$ , we have that  $R^Ge \subseteq \mathbf{1}_{R^G}(a)$ . For  $r \in \mathbf{1}_{R^G}(a)$ , we have  $ra = 0$ , so  $r \in \mathbf{1}_R(a) = Re$ . Thus  $r = re \in R^Ge$ . Hence  $\mathbf{1}_{R^G}(a) = R^Ge$ .

Suppose that (ii) holds. Let  $f = \frac{1}{|G|} \sum_{g \in G} e^g$ . Note that, for all  $g, h \in G$ , (3.1) implies  $e^he^g = (e^he)e^g = e^h(ee^g) = e^he = e^h$ . This shows that

$$\begin{aligned} f^2 &= \left( \frac{1}{|G|} \sum_{h \in G} e^h \right) \left( \frac{1}{|G|} \sum_{g \in G} e^g \right) = \frac{1}{|G|^2} \sum_{h \in G} \sum_{g \in G} e^he^g \\ &= \frac{1}{|G|^2} \sum_{h \in G} \sum_{g \in G} e^h = \frac{1}{|G|} \sum_{h \in G} e^h = f. \end{aligned}$$

Moreover,  $f^g = f$  for all  $g \in G$ . So  $f \in R^G$ . Because  $ea = 0$  and  $f = \frac{1}{|G|} \sum_{g \in G} e^g = \frac{1}{|G|} \sum_{g \in G} e^ge \in Re$  (by (3.1)), we have  $R^Gf \subseteq \mathbf{1}_{R^G}(a)$ . Note that  $\mathbf{1}_{R^G}(a) \subseteq \mathbf{1}_R(a) = Re^g$  for all  $g \in G$ . Thus, for  $r \in \mathbf{1}_{R^G}(a)$ ,  $r = re^g$  for all  $g \in G$ . Hence  $r = \frac{1}{|G|} (|G|r) = \frac{1}{|G|} \sum_{g \in G} re^g = rf \in R^Gf$ , so  $\mathbf{1}_{R^G}(a) = R^Gf$ . Therefore,  $R^G$  is left p.p.  $\square$

The assumptions (i) and (ii) in the previous theorem are necessary by the next example.

**Example 3.2.** [12, Example 6.4] Let  $K$  be a field with  $\text{char}(K) = p > 0$ . Let  $R = \mathbb{M}_2(K)$  and  $G = \langle g \rangle$  where  $g : R \rightarrow R, r \mapsto u^{-1}ru$ , with  $u = \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix}$ . Then  $R$  is left p.p. (simple Artinian indeed). Direct calculations show that  $R^G =$

$\left\{ \begin{pmatrix} a & b \\ 0 & a \end{pmatrix} : a, b \in K \right\}$ . So  $J(R^G) = \left\{ \begin{pmatrix} 0 & b \\ 0 & 0 \end{pmatrix} : b \in K \right\}$ . If  $x = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}$ , then  $\mathbf{1}_{R^G}(x) = J(R^G)$ . Because  $J(R^G)$  can not be generated by an idempotent,  $R^G$  is not left p.p. If  $e = \begin{pmatrix} 0 & 1 \\ 0 & 1 \end{pmatrix} \in R$ , then  $e^2 = e$  and  $e^g = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$ . It is clear that  $ee^g = e \neq e^g = e^ge$ . Moreover,  $|G| = p$  is zero in  $R$ .

The next example shows that  $R$  being left p.p. is not necessary for  $R^G$  to be left p.p.

**Example 3.3.** [13, Example 3.3] Let  $K$  be a field with  $2^{-1} \in K$  and  $R$  be the ring  $\left\{ \begin{pmatrix} a & b \\ 0 & a \end{pmatrix} : a, b \in K \right\}$ . Let  $g : R \rightarrow R$  be given by  $\begin{pmatrix} a & b \\ 0 & a \end{pmatrix} \mapsto \begin{pmatrix} a & -b \\ 0 & a \end{pmatrix}$ , and  $G = \langle g \rangle$ . Then  $R^G = \left\{ \begin{pmatrix} a & 0 \\ 0 & a \end{pmatrix} : a \in K \right\} \cong K$ . So  $R^G$  is p.p., but  $R$  is not left p.p. by Example 3.2.

### References

- [1] M. Auslander, *On regular group rings*, Proc. Amer. Math. Soc. 8(1957), 658–664.
- [2] S. U. Chase, *A generalization of the ring of triangular matrices*, Nagoya Math. J. 18 (1961) 13–25.
- [3] A. W. Chatters and W. M. Xue, *On right duo p.p. rings*, Glasgow Math. J. 32 (1990) 221–225.
- [4] J. L. Chen, Y. L. Li and Y. Q. Zhou, *Morphic group rings*, J. Pure Appl. Alg., 205 (2006), 621–639.
- [5] S. Endo, *Note on p.p. rings*, Nagoya Math. J. 17 (1960) 167–170.
- [6] K. R. Goodearl, Von Neumann Regular Rings, *Pitman*, London, 1979.
- [7] C. Y. Hong, N. K. Kim, and T. K. Kwak, *Ore extensions of Baer and p.p. rings*, J. Pure Appl. Alg., 151 (2000) 215–226.
- [8] C. Huh, H. K. Kim, and Y. Lee, *p.p. rings and generalized p.p. rings*, J. Pure Appl. Alg., 167 (2002) 37–52.
- [9] I. Kaplansky, Rings of Operators, *Benjamin*, New York, (1965).
- [10] C. P. Milies and S. K. Sehgal, An Introduction to Group Rings, *Kluwer Academic Publishers*, Dordrecht, (2002).
- [11] L. W. Small, *Semiheditary rings*, Bull. Amer. Math. Soc. 73 (1967) 656–658.
- [12] Z. Yi, *Homological dimension of skew group rings and crossed products*, J. Algebra, 164 (1994), 101–123.

- [13] Z. Yi and Y. Q. Zhou, *Baer and quasi-Baer properties of group rings*, J. Austral. Math. Soc., in press.

**Libo Zan**

College of Math & Physics  
Nanjing University of Information Science & Technology,  
Nanjing, China  
E-mail: zanlibo@yahoo.com.cn

**Jianlong Chen**

Department of Mathematics  
Southeast University,  
Nanjing, China  
E-mail: jlchen@seu.edu.cn